3304
Final

There are 4 questions and 1 extra credit question.  This is a 100 point test.

NAME:

5 points off for no name.

Write in dark blue or black ink.  If I can’t read it, minus 5 points

CHECK your pdf!  Make sure all the pages are there and that they are printable.  Make sure it isn’t blown up huge.  3 points off if pages are out of order.  5 points off if I have to contact you about missing pages.

Use this form please.  If you do not, make sure to put the points on the problem, just like they are in this form.  If the points are missing, minus 5 points.

Question 1





25 points


Given:

f(x) = 
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Provide the following information about f(x):

Domain

Range

Asymptotes

Intercepts

Derivative

Equation of the tangent line at x = (1
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Graph with asymptotes and intercepts labeled, below
Show the tangent line at x = (1

Question 2





25 points

Given:

f(x) = 
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Provide the following information about f(x)

Domain

Range

Intercepts

Anti-derivative…note F(0) = (64 and 4 is a zero of the anti-derivative.

Derivative

Where is the turn-around point for f(x)?  How do you know?

Where is f(x) increasing and decreasing? How do you know?

Does 
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exist?  

If it doesn’t, explain why.  

If it does, state what it is and explain why it exits.

Graph the function, the anti-derivative and the derivative with intercepts and turn-arounds clearly labeled on each graph in the space below.
Question 3





17 points

Given
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(t is not zero and t is an integer}.

A. Write a list of set elements that demonstrates that you know which set this is.  Use appropriate notation.

B.
Indicate which numbers are the least upper bound and the greatest lower bound and indicate whether or not these numbers are set elements.  If one or the other of these bounds does not exist, say so clearly.

What is the limit of this sequence as t approaches 
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? Is this an element of the set?

C.
Make a graph of this set showing at least 8 set elements below
Question 4





33 points

A. What is the domain for 
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B. What is the y-intercept for 
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C.
What do the x-intercepts of 
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D. Where are the x-intercepts for 
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E. What is the derivative for 
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F. What is the y-intercept for f(x) = (x (1)(x + 2)(x +4)?

G. What is the range for f(x) = (x + 2)(x (1)(x + 3)(x +6)(x (7)?

H.
What is the domain for f(x) = 
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H. What is f(
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I. The 60th term of an arithmetic sequence is 105 and the common difference 
between terms is 5.  Find the first term.

K.
Give the bounds, if any, for the sequence  
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n is a natural number.
Extra credit question




10 points

Why is 
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Include a brief explanation and a table or a graph as further evidence.
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